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Question Number : 1 Question Id : 3354725731 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

gﬁw%%%g of the following districts of Madhva Pradesh is opium cultivated? | Wed WS o @19 & el H STHH &

Options :

1. ¥ Mandsaur | A2EIX
# Shivpuri | fega
3. ¥ Sagar | 9

4. % Raisen | =@

™

Question Number : 2 Question Id : 3354725732 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Kakrapar Atomic Power Station is located in_____ | TR U] ST deg ______ T

Options :

1. ¥ Madhya Pradesh | W& 0
2 % Tamil Nadu | afe-Tg

3. ¥ Uttarakhand | J9Es

4 ¥ Gujarat | ToRIT

Question Number : 3 Question Id : 3354725733 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Coolie' is the creation of a well-known Indian writer. Who is he? | 'Fell' Ui Tieg 9Rd 127 oG 1 T 51 o B 57

Options :

1. ¢ Mulk Raj Anand | G T4 TG
2. ¥ Raja Rao [ TRT{E

¥ RK. Narayan | $% R

® anita Desai { 31T AT

L

e

Question Number : 4 Question Id : 3354725734 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
Who was the first Deputy Prime Minister of India? | YR & WA 30 WTHAGT B 47

Options :

. ¥ Sardar Vallabhbhai Patel | TRgR dwed H1E U2
#® GL Nanda | St.Oa.Hgr

. ® GB. Pant | StatuT

% Lal Bahadur Shastri | T aRIgT ATEAT

(="

M

AW

Question Number : 5 Question Id : 3354725735 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

‘Indian Army Day’ is celebrated on ______________ of every year. | "IRd 1< &7 foaer, waziar oy
AT SATaT 31

Options :
1. ¥ 15th January | 15 EErE
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2. ¥ 11th January [ 11 Saer
3. ¥ 13th January | 13 S9aer
4. ¥ 22nd January | 22 S-at

Question Number : 6 Question Id : 3354725736 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Who was appointed the second-ever woman Defense Minister of India in September 20177 | e 2017 # 9RT

T GELT HigET T AT Tt g T war ar?
Options :

1. ¥ Sushma Swaraj | AT T

2. ¥ Nirmala Sitharaman | THaT Siameao
# Uma Bharti | 30T ¥RET

# Najma Heptullah | <[ AT 89geT

Question Number : 7 Question Id : 3354725737 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which major title was won by PV Sindhu in Septemnber 20177 | Tdax 2017 # df &t @y = 219 a1 uga e sfar
a7

Options :

1. ¥ Korean Open | @R 0=

2. ¥ Japan Open | S =

% Malaysian Open | ARTIET 0=

® Indonesian Open | 5 MISHTE U=

W

e

Question Number : 8 Question Id : 3354725738 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Who is the first woman judge of Supreme Court of India? | YRT & Aaig ~ATATAT BT TR AT ~AETTa Hi9 57

Options :

1. ¥ Justice Leila Seth | Seed slilell 98

2. ¥ Justice Anna Chandy | Fiecq W ST

3. ¢ Justice Fathima M. Beevi | S€ed HIdHT TH. =tal

4. ¥ Justice Mary Joseph | Sieed HU FEE

Question Number : 9 Question Id : 3354725739 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Who is the present Chairman of Central Board of Film Certification? | S el WHTUH &12 @ HISGT SMedy & &7

Options :

1. ¢ Prasoon Joshi | wgH st

2. ¥ Gajendra Chauhan | THg =g
3. % Pahlaj Nihlani | 9ge gt
4. ® Sharmila Tagore | STHAT ST

Question Number : 10 Question Id : 3354725740 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0



14th Dec17 Shift 1
which was the first English newspaper published in India? | ¥Ra H WRITAT 51 AT U5 ST THRER 9 H19 a7 977
Options :
1. ¥ Bengal Gazette [ & T=Id
# The Statesman | T &oqad
% The Hindu | fgvg
# The Bombay Herald | aTrel 378

n

w

s

Question Number : 11 Question Id : 3354725741 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
According to India State of Forest Report - 2015, which state has the highest forest cover in the country? |

URT T+ a- Wale-2015 & Sgar o & & T § Gad S1f€w® o= HAeaed o7
Options :

. ¥ Madhya Pradesh | A& 0ear

% Andhra Pradesh | &7 waar

% Nagaland | TT#E

4. ¥ arunachal Pradesh | STUTREA W24

SRS

L

Question Number : 12 Question Id : 3354725742 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Madhya Pradesh, manganese is found in the districts of _______. | meE we A, A Tt # o M

Options :

% Morena and Rewa | §tT 8T Trar

. ¥ Bhalaghat and Chhindwara | WiaTgTe K HaareT
® Durg and Bastar | g @ st

® Ujjain and Kalumar | S99 d @A

—

M

RS

Question Number : 13 Question Id : 3354725743 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Mohaj Mata Mandir in Shivapuriisat_____. | TEST AT Aiex Mg H iR
Options :

1. ¥ Terahi | d¥R!

2. % Chanderi | =2

3. % Mahua | "ger

4. ¥ Bhind | ¥g

Question Number : 14 Question Id : 3354725744 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is the Gola Math situated in Satna district? | @@ Mel | 7T A F57 20T &7

Options :

1. ¢ Maihar | Rg¢

2. % Nagod | AmmiE

® Paran | WA

® Shorpura | RO

W

-
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Question Number : 15 Question Id : 3354725745 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
A famous ternple on the banks of Shivna river in Mandsaur is

_______ | FEE o THET AT @ T e iy AieT

Options :
1. ¥ Pashupatinath | TUid—rer

2. % Vishnu Varaha | Tewy awmgr
3. ® Durga Lakshrmi | gi elgHt
4. ¥ Shankar Parvati | J@< UTddr

Question Number : 16 Question Id : 3354725746 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The famous Teli ki Sarai of Harda district is situated in

Options :
1. ¥ Handia | gfz=m

2. ¥ Chanderi | Zieer
. ® Nemawar | JHET
¥ Seoni | AT

S8

-

Question Number : 17 Question Id : 3354725747 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Wwhich city in Madhya Pradesh is the renowrned singer Kumar Gandharva associated with? | muﬁﬂ o Tepe 15t
H HIGE T FAR TEE Hall9d 57

Options :

1. ® Ujjain | 3=
2. ® Sagar | 9K
¥ Dewas | a9
4 % Dhar | oI

ol |

Question Number : 18 Question Id : 3354725748 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
In terms of population, the largest city of Madhya Pradesh is______. | SIEET o ST UT He 0SS & Hae g2T 957

Options :
1. ¥ Indore | Z2I0

#® Gwalior | TETieaT
% Bhopal | ¥dTe
# Jabalpur | SE@gT

M

L

-

Question Number : 19 Question Id : 3354725749 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The state that ranks number one in population of Special Tribes is | & =T & FAEET H Fa€ T 209

Options :
1. ¥ Rajasthan | T=e™
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2. ¥ Chhattisgarh | geaTg
. ¥ Madhya Pradesh | HeT Waar

L

4. % Uttarakhand | FTEs

Question Number : 20 Question Id : 3354725750 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Barwani has the tallest statue of | FEaET H

&I Hae g2 T Wi AT 3]
Options :

1. ¥ Lord Adinath | $7TaT 3Mmi=er

2. ¥ Lord Shiva | ¥am= &

# Lord Hanuman | W& gga

. ¥ Lord Mahavir | W& AgTER

S

General Maths and General Aptitude

Section Id : 335472149

Section Number : 2

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472149
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354725751 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The average age of a husband and his wife when they married 5 years ago was 23 years. Now the average age
of the husband, wife and his child who was born during this period is 19. What is the age of the child? | &
ﬁﬁg@ﬁfﬂmﬁaﬁrﬁaﬁsﬂﬂam% o o e e, e 3 59 arate § S0 o] #r offad ey 19 o9 21 &g &1 ey
T 57

Options :
LYY

*2

M

w
w

b
o

Question Number : 22 Question Id : 3354725752 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
& bag contains 4 red, & black and & white balls. If a ball is drawn from the bag, then what is the pI”Obabilit}.?
that it is black? | UF 9a # 4 &, S T 32T 6 A S 5 Fie, Jel & U g BT AT 5, T FAT WIRAT & 10 g AT 57

Options :
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.
| =

o >

-

2

Question Number : 23 Question Id : 3354725753 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

I£y15625 = 125, then find the value ofy1.5625+/156.25. / ATcy/15625 = 125. dd

V1.5625+/156.25 &l HT ATd |

Options :
1. ¥ 1375

£ = 1375

3. % 1375
4 ¥ 1375

Question Number : 24 Question Id : 3354725754 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
If the number EE745 is divisible 45, then E is

Options :

[
~J

w
)]

e
o

Question Number : 25 Question Id : 3354725755 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
If 4x* + 12x + 100 = 0. then the value of (2x +3) is: /afe 42+ 12x+100=0.0dd (2x +3) &1
AT

Options :

1. % 100

2 % 91

v -91

® -100

L

-
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Question Number : 26 Question Id : 3354725756 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
(33)2- = e 314

Options :

4
L7

r
¥

Question Number : 27 Question Id : 3354725757 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

3y (2) _,
J.' V7

{ 2
L7
!

-

~1| k2

Options :

3
1.¢
__1
.}w'-"
2
3 ®
1
q % 7

Question Number : 28 Question Id : 3354725758 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Find the average. | ad I @4

27,69, 15, 58, 21
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Question Number : 29 Question Id : 3354725759 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find a rational number whose decimal representation is 2.34. | U% TCHT GE0T J1T @, T SaAaAT W60 2.34 21

Options :
1. ¥ 23

;,u M

E
.

JEN
’_.L
-
~
U
]

Question Number : 30 Question Id : 3354725760 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

In an exam P secures 58% marks and O secures 105 marks more than P. If the maximum marks were 700,
then what is the percentage of Q7 | U WIS # P 58% 31 ffd #¢aT1 § 9T Q, P ¥ 105 87 STee affid #eaT g1 41
SITErraH 3@ 700 5, 1 Q T UG I F47 57

Options :

1. ¥ g5%
® c8%
. 73%
® 75%

r

L

-

Question Number : 31 Question Id : 3354725761 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A lady had only 50 paise and Es. 1 Coins in her purse. The total number of coins was 120 and the total
amount was Rs. 100. The number of Rs. 1 coins is_ o T IHF U8 H e 50 09 ofiT 1 70 o gy 4
ﬁﬁfﬁmlzogmgﬁwﬁfloowﬁeﬁ]aﬂlmﬁ% T G &

Options :
1. % 60

M
~_d
L

b

0o

w
® § =

o
w
o

Question Number : 32 Question Id : 3354725762 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Find the odd one. | T&9q I 4

Options :
1. ¥ Rectangle | 3mad
2. ¥ Triangle | T30

L

® Parallelogram | ST AqHA

#® Rhombus | GHaTH

o

Question Number : 33 Question Id : 3354725763 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
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Consider the string VARGHESEY ARGHESEVARGHESE VARGHESE, where WARGHESE is repeated 20 tirmes.
Stage 1 remowves all even position letters in the string and in the successive stages, the even position letters are
removed till a single letter is left. What is the letter? | 93 VARGHESEVARGHESEY ARGHESE VARGHESE W fdaw
@, gl VARGHESE &1 [0 20 = §% 31 2’07 U H o T T T o START W g AT 7 ST T Seeiee = |
an w3 STYTT T T ToF ge 12T AT &, qaaiﬁﬁﬁwa?wnaxm S TET U5 A0 IF ST 74T 57

Options :
1. ¥ 3
2. ¥R
2 Y

Question Number : 34 Question Id : 3354725764 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Mohan spends 40% of his income on rent, 20% on food, 10% on entertainment and saves the rest. Find his
savings as a percentage of his expenditure. | AEA ST ST AT 409 T UE, 200 99 T, 1 0% WISt 0F @ ot
T TAT AT FT ST BT g1 I S oF AU T A ATIT AT B

Options :

Question Number : 35 Question Id : 3354725765 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

10 years ago, Chris was 3 times as old as Alec. Chris would be 2 times of Alec’s age 10 years from now. What
is the current ratio of Chris's age to that of Alec? | 10 =¥ U ford Usier & 3 AT w27 oM fope anft & 10 o wena Ueid
T T BT 2 AT 51T T ST 3473 T Utar @1 ST & AT ad AT SIuTd 47 87

Options :
1. % 7.
v 7.
¥5:3

® None of these | 578 @ @ g1

L pa

M

L

e

Question Number : 36 Question Id : 3354725766 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The smallest nurmber of 4 d1g1ts which when divided 12 and 20 leaves a remainder £ in each case is; |
4 ! & Had g e ME Aig 6, 8, 12 7d 20 ﬁﬁmﬁ%ﬁﬁﬁmw% T HF T H 9w S M EET |

Options :

1. ® 1285

2. % 1200

3. ¥ 1085

4. ® 1080

Question Number : 37 Question Id : 3354725767 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

If the s1.1}:nplementarj.:r angle of x is € times its complementary angle, then x is___. | a7¢ x &7 QU B0 Ik I
T FT6 AT, TTx 2
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Options :

. % 180°

2 % %

F)O

w

L 46°

Question Number : 38 Question Id : 3354725768 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

In the decimal representation of 2337, what is the 2017th digit after the decimal point? | 2337 % gawsd
Treu #, Zamed feleg o waTd 201 78T S 4T 5 IT?

Options :
1. %1
2 %2
v6

4 ® g

L

Question Number : 39 Question Id : 3354725769 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
which one of the following numbers is divisible by 997 | FHEEs # € 219 9 927 99 9 Tvea 37

Options :

4. ¥ 114345

Question Number : 40 Question Id : 3354725770 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The dowmnstream speed is 7.2 kmfh and the upstrearmn speed is 4.8 kanfh. It takes a total of 20 hrsto gotoa

place and corme back. What is the distance (one way) travelled? | €T &1 FaTg & @R T 7.2 Torl ) €T § a2 ory &t

g?ﬁu%ﬁﬁwﬁnﬁqa Tt weT 81 Tl w2 T A T A W H P 20 e A 8l a1 a9 @ T8 AT (T 9 @)
FT 57

Options :

1. #® g0 km | 60 Topdt

2. % 120 km | 120 Tt

. ¥ 576 km | 57.6 Tt

# None of the above | 590 @ ®IE A1

L

e

General Hindi
Section Id : 335472150



14th Dec17 Shift 1

Section Number : 3

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472150
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354725771 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
o =2t 3 I & wew aEal # A BT T B, I FEd & -
Options :

4 ¥ zrEmmw

w

Question Number : 42 Question Id : 3354725772 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Torey 41TaT T Teeal o1 AT T AET 57
Options :

Question Number : 43 Question Id : 3354725773 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
o eafet & IgmoeT # same oy TeT Toneit eatae & 4@ & Wead| 5, 36 @5d & -

Question Number : 44 Question Id : 3354725774 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

‘TET Jeg | Tohe U 1 arghg & -
Options :

1. ¢ 'y et
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M

R g gat
B g waet

L

Question Number : 45 Question Id : 3354725775 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

ToFeT 9re § TR 2741 T W AR 5 -
Options :

1. ® Hugr

® zZzr

W

o

Question Number : 46 Question Id : 3354725776 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
“FHA FT U A= 4G H BT AT R?

Options :

1. ® gamwft
2. ¢ |qo=
3 % dsn

4 ® i E3

Question Number : 47 Question Id : 3354725777 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
TargEa g T & F T uw Ter P H g S AT 27
Options :

L

Question Number : 48 Question Id : 3354725778 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

‘Tererd T Ty g e A g e AT gy
Options :

1. ¢ wgT +ed

2. ¥ [g +ied

3 ® mgr -+

Question Number : 49 Question Id : 3354725779 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
‘I @ TIA eg ME H e R AT ey

Options :
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® TTH

R I R e
® ® 4
H

Question Number : 50 Question Id : 3354725780 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

TR T AW deg g # § &9 a7 87
Options :

2 ¥ ai=am|
4. ® e

L

Question Number : 51 Question Id : 3354725781 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
T Tea T & 7 STeg, =g # & & 87

Options :
4. ® g

M

(WA ]

Question Number : 52 Question Id : 3354725782 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘Iwe ] T o =T gerae & onf g a s arg?
Options :

. ¢ uidge #1 w1

4. ® TTRT RT

Question Number : 53 Question Id : 3354725783 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

T AT GeTa] @ orf g A g e e
Options :

1. ¢ g

2. ¥ e aaAr

® ey @A

w

o

Question Number : 54 Question Id : 3354725784 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
o A g e TR E R AT e?
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Options :
1. ¥ &

b

® Eor

M

w

4 ¥ gm

Question Number : 55 Question Id : 3354725785 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
e I U &, T 379 ehamd

ek T IS BT, J1aw g gl
s:rdﬁm‘fﬁ‘ﬁﬂ?%‘aﬁ:rmm%?

Question Number : 56 Question Id : 3354725786 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

0w Taiee areg i - srfdgf
Options :

3. % g W'JQ@

4 % arqgfe

Question Number : 57 Question Id : 3354725787 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
“TREUTINT Jeq, %1 @51 [dUg = -

Options :

4

w

Question Number : 58 Question Id : 3354725788 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

TR dwenl # § AT @ #1 g @ -

Options :
2. % gEdR
4. ¢ FHER
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Question Number : 59 Question Id : 3354725789 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

F AT A T w0 8 e ATy, 99 Fed § -
Options :

1. ¥ g

4. ¥ HeEmiedrE

[

L

Question Number : 60 Question Id : 3354725790 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

T | T o & w19 ||t e
Options :
2 ¥ ZFwE
Rural ECOHOI‘H}! and Panchayati Raj
Section Id : 335472151
Section Number : 4
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472151
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354725791 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Wwhich among the following is NOT a function of Gram Panchavat? | Faic T # & T37 U T=ad &7 714 A51 57
Options :

1. ¥ Prevention of contagious diseases | G@HTHEF LTI &l THITH

2. ® Lighting of village streets | e &l GS®! ol =T

- | 1%‘1; Provision for emergency relief in cases of fire, flood, drought, etc. | ST, =g, GE@T &MTie & ATHA! H TUT U5

4. % Maintenance of community water bodies | ST S e @1 T@warT

Question Number : 62 Question Id : 3354725792 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

%1%1 %13 the first ever SO certified Grarm Panchayat in Madhya Pradesh? | T s & ugelt [SO UHTIOT UTH W=

Options :

1. ¥ Kodariva | ®ighar
2. ¥ Devli | 2ddl

3. % Jait | 9T

4. ¥ Nipaniya | Tauf=r

Question Number : 63 Question Id : 3354725793 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
'Project Akanksha'is intended for tribal studentsto ______ . "TICAT STTRTET &7 Jo9 STicarer s1af & oy ______ 2l

Options :

1. ¥ E-learning to prepare for Joint Entrance Exarminations | € Welel TigT & ol 4R &t & @y s-Af-n
2. ® Avail books and instrurments | edeh 3T IUHCOT UTH FAT

3. # Avail education free of cost | T gear Taem wid weT

4. ¥ Get admissions in hostels in cities [ gLl # FTAEE! # Weha wHT

Question Number : 64 Question Id : 3354725794 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Wwhich among the following states is the largest producer of milk in the country as in 20167 | a9 2016 ¥ TR
uté:srﬁﬁﬂﬁwg@'crﬁé‘aﬂ:rmm T T Herdl ST JeUTad 57

Options :
1. ¥ West Bengal | Ut ama
2. ¥ Rajasthan | =G

3. ¥ Bihar | TER
4. ¥ Uttar Pradesh | JaTncy

Question Number : 65 Question Id : 3354725795 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhich of the following is a central Technical Support agency for implementation of Deen Dayal Upadhyaya
Grameen Kaushalya Yojana? | 19 ST SUTET TTHIT ® 18T T o fTaieaae o 16 Mgl ad # o i 91 0@

T FETEET 7

Options :

1. ®¥ Ministry of Rural Development, Govt. of India | TTHIT [I@ A4, YRT TER

2. ¥ Respective Zila Panchavyat | datad F@T vemaa

3. ¢ National Institute of Rural Developrment & Panchayati Raj | J39d secieg Tk & sdauie U G=rd T O+

4 % Institute of Rural Management | SECISC 10 & A-wHT

Question Number : 66 Question Id : 3354725796 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Periodic elections to the local bodies are made mandatory by: |
M

Options :

1. ® 72nd Amendment | 7287 §ate

2. ¢ 73rd Amendment | 7347 Gate=
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3. ¥ 36th Amendment | 86T e
4 % 37th Amendment | 87T G

Question Number : 67 Question Id : 3354725797 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

In India, the cultivated area under cert1f1er:l or mc fElI"I'ﬂl has grown from 42,000 ha in 2003-04 to
________ in 2013-14. | YT #, WA Gt a8 2003-04 F 42,000 2FAX & g€ 2013-14

________ THEITE B

Options :

1. ¥ 3.731akh ha | 3.73 7T 30X
2. % 5.441akh ha | 5.44 719 39T
3. ¢ 7.23lakh ha | 7.23 AT 3R

4. % 10.21lakh ha | 10.21 7T 3R

Question Number : 68 Question Id : 3354725798 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
'MNeeranchal' is a | e O

Options :

1. ® Rainfed Area Development Authority | e URAT SadUHc SfETee!

> % Fertilizer Subsidy Schemne | GTFATEST aletel ey

® Micro Irrigation Systern | ATg®! LT fEqed

¥ National Watershed Managernent Project | Jaa gieedig A-<He Wi

L

o

Question Number : 69 Question Id : 3354725799 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

The Protection of Plant Varieties and Farrmers Rights Act was enacted in
YT SIFETeEA o arferferiie o mam am

Options :

1. ¥ 1951
2. ® 1971
B * 1961
4 v 2001

Question Number : 70 Question Id : 3354725800 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

The Cen%ral Gaushala Development Board was established in Indiain______ .| AT § S AT e e
TTT &1

Options :

1. % 1947
¥ 1949
#® 1959
® 1961

r

w

e

Question Number : 71 Question Id : 3354725801 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
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What does the abbreviation PESA stand for? | G180 &7 dEUaY TFaewT 0d 1w &7
Options :

1. ® Poverty Elimination for Schedule Area | Wiacl UietiB-e B¢ Hegs Tiear
2 ¢ Panchayat Extension to Schedule Area | U=Tad Uadd e g [egw Uicar

3. ¥ Panchayat Extension Scheme Agency | TETdd Tade s ThiA T=g!

4. % Provisional Extension to Schedule Area | Wiia o Qaaes ¢ T9ege givar

Question Number : 72 Question Id : 3354725802 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Which are the constitutional amendments that enabled the constitution of PRIS? | Wseeng & qued & oy w19 4
TaerT g forg o 27

Options :

1. ¢ 73rd &74th | 7347 3T 7447
2. ® glst &62nd | Blar AT 62aT
3. % 7ist &72nd | 717w 72
4. ¥ g8th & 69th | 68aT 3 69aT

Question Number : 73 Question Id : 3354725803 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Corrrnon Carp, Silver Carp & Grass Carp are varieties of
1, Twe) @1 ST TTE @1, Heavcy § vdied
Options :

1. ¥ Fish | #gel

2 % Rice | T

________ cormmenly found in Madhya Pradesh ? | #1849
o T 57

3. ¥ Oranges | §a€
4. ® pulses | TA

Question Number : 74 Question Id : 3354725804 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the objective of ISOPAM scheme? | [SOPAM THT T I557 T4T 57
Options :

1. ¢ Increase production of cilseeds & maize | gl T 4 FT IoHEH ST

2. #® Providing mid day meals at schools | TSenmal # AeATg 99T IUAT T
3. ® Providing free health care to rural people | TTHIT T @1 T Jrdr T Had JUase BT

4. ® Increase production of poultry | Fge BT JeUTEH aGTHT

Question Number : 75 Question Id : 3354725805 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
National Fishe%i]es Development Board is located in _______ .| A T Saaude 92 (T Aol T Jig)

Options :
1. ¥ Hyderabad | 32@E

2 ® Goa | MaET
3. % Mumbai | g
4. ® Chennai | =192
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Question Number : 76 Question Id : 3354725806 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

In which village of Madhya Pradesh, the first ever mega food park has been set up in 20167 [ Ae UG & forg
M #, 2016 ¥ Ugel BT B2 UTeh &1 EIAUAT T M7

Options :

1. ¥ Badgaon | 9=
2. ¥ Kosamba | ®EHar
3. ¥ Chicholi | BF=aT
4. ¥ Panwa | el

Question Number : 77 Question Id : 3354725807 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

What is the objective of Rashtriva Gokul Mission? | TR Mg THH ®T I599 &7 27

Options :

1. ¥ Develop foreign breeds of cattle in a scientific manner | Aafdt &t Eest Te: dami—e &0 & AweT FeT
2. % Sell milk under ‘Gokul’ brand narme all over the country | U & # & &1 ‘Tigel 1S AH § =T

3. ¥ Develop indigenous cattle breeds in a focused and scientific manner | Wefsrt & 25t Tea1 &1 Wiea o
ESIEER ] ‘r%zﬁﬁﬁ FCAT

4 % Develop the municipality of Gokul in Uttar Pradesh | Iqa< W # Tge FTRuTicieT &7 TermTe T

Question Number : 78 Question Id : 3354725808 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘Charnpion Employer’ under Deen Dayal Upadhvyaya - Grameen Kaughalya Yojana is an organization findustry
who ________ .| S ST JUTEATT o T5d SAIE TFATIT — WA F 8T T U anae | e 8 Ar |

Options :
1. ® Can employ trained sports persons | 5l F [Eere! ®f Wi o qwar g

E%T ® Has the% capacity to start fresh industries for giving employment | TR WETH & & 60 97 JEIT SO0 #
THAT TEaT

3. ¥ Has the capacity to give placement to 5000 trained people in 2 years [ 2 @9t # 5000 WiATET it #T TR
T & HHET TEdT

4. ® Can get placement in government services | @@l darsli # toiade & 9FdT s

Question Number : 79 Question Id : 3354725809 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The prime objective of Deen Dayal Upadhyay Gram Jyoti Yojana is .| S AT JUTET UTH =A1d =T &7

Options :

1. ¥ Providing electricity to urban areas | 9T 831 & e W= &

2. ® Supplying LED bulbs to rural places | TTHI0T &3t § UAsS! dwdl &l SYfd @7

3. ® Starting candle industries in villages | Tat § AHadd ! ST & FCAT

4. ¥ Ensuring continuous power supply to rural India | T 9RT @1 aw feore ! amyfd gt @

Question Number : 80 Question Id : 3354725810 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Who selects the Social Audit Comrmittee under MNREGA? | BT & 2id7d S48 & &9 GIad iTSe FHET &7 4 HedT

Options :

1. ¢ Gram Sabha | T @47

2. ¥ District Collector | Fwmeftar

3. ® Janpad Panchayat | S90S demad
4. ¥ Zila Panchayat | T =T

Cormputer Knowledge

Section Id : 335472152

Section Number : 5

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472152
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354725811 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The full form of URL is: /| URL #TqUi &0§

Options :

1. ¥ Universal Resource Locator | gi-ade et alehet

2. ¥ Uniform Resource Locator | ik & dfdet

3. ® Universal Response Location | Jied (HuT-d dAlaa

4. ® Universal Response Link | gi-eda (ui-d el

Question Number : 82 Question Id : 3354725812 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
_________ application is used for presentation. [ ___________ UCATh P JULNT T 0T o Tt T ST 2)
Options :

1. ¥ MS Word | TR.UE. T2

2. ® MS Access | QH.UE. UFdd

3. ® MS Excel | UH.UH. UFad

4. ¥ MS PowerPoint | TH.0H. UleRdise

Question Number : 83 Question Id : 3354725813 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
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which of the following satisfies the standard policy for strong passwords? | HRAETET # € 19 9997 THas &
ToT wTar ifd @1 aque FaT 27

Options :

1. ¥ inG3nlus
2. ® IngeniSs
3. ¥ 54736us

4. % |nG eniusS

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 84 Question Id : 3354725814 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is NOT an Operating System? | =59 # & @19 aTa9 93 751 57

Options :

1. ¥ Microsoft Windows | ATE®ETE ek
2. ¥ Google Chrorme | 1A ®H

3. ¥ Mac OS5 | #® AiUd

4. ® Android OS | Ugtas

Question Number : 85 Question Id : 3354725815 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

which shortcut key is used to copy the selected cells in MS Excel? | UR.UH. U H, Helghe &1 TS Hel B RIUT FCA
Torg e aféepe it T TR BT &7

Options :

1. % Crrl + A
2. % Ctrl + B
3.V Ctrl + C
4 % Ctrl +D

Question Number : 86 Question Id : 3354725816 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Which shortcut key is used to find a particular word in a Word docurnent? | a2 gedre # T feifde seg 1 g
o Tty Torer aiTéare gratt 0T WA 5147 37

Options :

1. ¥ CTRL +5
2. ¥ CTRL +F
3. ¥ CTRL+R
4 ¥ CTRL+Y

Question Number : 87 Question Id : 3354725817 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

What is the use of Carbon copy (CC)? | e BT (HET) T FT UL ZHaT 27

Options :

1. ® Recipients are invisible to all of the other recipients of the message in CC | @6l # 9 &7 WTHEHdT 34 THT

2. ¥ Recipients are visible to all of the other recipients of the message in CC | @l # € &7 WTHwdT s+ T4
uTHe a1t o oy e gl B



14th Dec17 Shift 1
3. ® Recipients are invisible to only one recipients of the message in CC | @€l & §aT T WTHFA1 el Jeb WTHRT] o
ol srgea g &)
4. % None of the above | JWIFT § & Fls A5

Question Number : 88 Question Id : 3354725818 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The Internetisa _________ | BT Uw ______ H
Options :

1. ¥ Local Area Network (LAN) | ST &7 @ (@)
2. ® Mobile Area Network (MAN) | I &F JTewd (34)

3. ¥ Storage Area Network (SAN) | T2 87 ATA@H (&)
4. ¥ Wide Area Network (WAN) | Tega &3 Ia@H (39)

Question Number : 89 Question Id : 3354725819 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
On which one of the following output devices is hard copy often displayed? | g8 & T smaeye f2aeq w .

TS w1 WEfdd gt 27

Options :

1. ¥ Monitor | AT

2 % Scanner | gHT

. Printer | Tifex

® Key Board | #i-aig

L

e

Question Number : 90 Question Id : 3354725820 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
which of the following alignment is applied to the belowtext? / &e& ¢Fee & &l @

UATSAHE oE [T 7T &7

[Type a quote from the document or the summary
of an interesting point. You can position the text

box anywhere in the document. Use the Text Box
Tools tab to change the formatting of the pull
quote text box.]

Options :

1. ¥ Right | T8¢

2. ® Left | Age

3. ¢ Center | ¥

4. % Justified | FHIBES

Question Number : 91 Question Id : 3354725821 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

which type of charts can Excel produce? | UF6# [ WPR & I8 HIHT & G@dl 57
Options :

1. ¥ Line graphs and pie charts only | Fad @Als- UTE 3T U8 @18
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2. ¥ Line graphs only | %dd @G- UTE
3. ¥ Bar charts, line graphs and pie charts | 9% =12, @ATe- UTE 3¢ 078 =12
4. ¥ Bar charts and line graphs only | %ad a1 @ 3T AGA TTH

Question Number : 92 Question Id : 3354725822 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Which shortcut key is used to print a Word docurment? | 92 SiggHe @I e ot & o0 T Siéde gt &1 Ham 5T a7

Options :

1. ¢ Ctrl4P

2. % Ctrl+B

3. #® Ctrl+A

4. ® Ctrl+shift+P

Question Number : 93 Question Id : 3354725823 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
What is included in an E-mail address? | 5-Ud Uged T FaT @A T SmaT 87

Options :

1. ® Domain name followed by user's name | SIH ATH & a1 I FT A0
2. ¢ User's name followed by domain name | J9€ & 10 & 75 S0 &1 A1
3. # User's name followed by postal address | IoR & 9T & 91g URed Uad
4. % User's name followed by street address | I9€ & A0 & a1g €518 Uad

Question Number : 94 Question Id : 3354725824 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
Storage device that uses lasers and liﬁhts as its tECh]TIOIO-EI‘j.ir of reading and writin information is known as: |

TE TENA T2aTeH FAT ot S ATgel @ AT g W o0 ST Tt o ®9 § #ed | 8, Feael g
Options :

1. ® Magnetic storage | AHfe® qEie

2. ¥ Optical storage | &Te g Gl

3. ® Cloud storage | FAIS T

4. % Paper storage | UUT HE i

Question Number : 95 Question Id : 3354725825 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The three main components of a computer are: | FHAYGET & d14 §@T AT ¢ |

Options :

1. ® CPU, Memory, Tape | dLUl.3, #A1, 30

2. ® Tape, Memory, Floppy disk | 20, BHI, Faml Eq®
3. ¥ 1/O, Printer, Mouse | 31g. 31T, TieT, A9

4 ¥ CPU, 1]O, Memory | |11, smg. /s, #EN

Question Number : 96 Question Id : 3354725826 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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_______ option determines the distance of the paragraph from either the left or the right margin. | EETR

_______ i & T SprET g AT | gar e T g
Options :

1. ® Mail merge | Ad 7

2 ¢ Indent | $2¢

3. ¥ Shading | 92w

4. ¥ Right Alignment | TET UATETHE

Question Number : 97 Question Id : 3354725827 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
SMTP stands for: | SMTP #Tde0d &

Options :
% Switch mode Transfer Programming | Te&= 7l g wfa

=

# Switch mode Transfer Protocol | e AIE ST W@
. ¢ Simple Mail Transfer Protocol | T&0# 88 STEHE HiEi® A
# simple Main Transfer Protocol | Tus 87 g/t Meiwia

WM

-

Question Number : 98 Question Id : 3354725828 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which of the following tab is the illustrations group available in MS Excel 20077 | TAUE U 2007 H Saes o
Ty FemieiET # & v 9  auaey 5id 27

Options :

1. ¥ Insert | &8¢

2. ¥ Page Layout | U9 #313e
3. ® Data | 22T

4. % View | 99

Question Number : 99 Question Id : 3354725829 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

__________ is NOT an operating systermn. | __________T& ATie 1 THeed Tal 8l
Options :

1. ¥ DOS | 219

2. ® Linux | fo=eq

3. ¥ Windows | fH=

4. ¢ Oracle | siitaheT

Question Number : 100 Question Id : 3354725830 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

What does ‘Ctrl’ + ‘=" key applies in MS Word 20077 | UAUE Teda § Ctrl’ + =" gl @1 &7 T 5 1d 7 27
Options :

1. ® Font size increase | BI-c G159 9341 5

2. ® Font size decrease | B¢ HIsH gedl &

3. % Superscript | UEHIT

4. ¥ Subscript | Gietd @



